1B H#R FEEBEE  (ES18m)
) (m/s) B e 5 K (m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KSR
BT AR EAQ] AR Bm | HEH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 2.5|FE Pl 13.3|Fm A 6.8 14.3 22| 748 97.5 35.2 67.3 1010.1 1012.3 0 0 NS
2H 2.8|FAREg P 15.9|Fm A 8 12.9 39| 543 87.5 33 63.4 1011.8 1014 0 0 NS
3H 2.6|FFh 13.9|FEm A 7 10.8 24| 431 61.9 18.8 57.3 1010.7 1012.9 0 0 NS
4H 2.7\ 8.2| Fu g P 4.6 10.9 —0.2 51 80.2 26.6 55.3 1015.2 1017.4 0 0 NS
5H 2|FI P 8.2|dtdb & 4.7 7.2 1.7] 685 90.8 46.1 59.2 1012.7 1014.9 0 0 0|=
6H 2.7(Fmm 10.9|FaREI A 6 12.7 0.3] 65.2 95.8 30.5 61 1008.7 1010.9 0 0 WY
7H 2.6[FIrFMA 13.4| R P 6.5 13.4 1.4] 709 91.3 37.2 63.9 1016.8 1019 0 0 NES
8H 2| 8|74 7.4 12.9 3.7l 898 97.5 53.3 71.6 1012.5 1014.7 1.5 7.5 295|=
9H 49(FFE 235 10.7 15.1 59/ 609 97.5 35.5 68.4 995.8 997.9 1.5 5.5 15.5| k&
108 3.4 19| F R P 7.3 10.2 5.1 41.2 50.5 31.9 60.2 1006.5 1008.7 0 0 NES
118 4.1(FaEFE 19.8| I 7a 5.5 7.8 28] 335 43.6 22.2 52.1 1010.8 1013 0 0 NS
128 3.2| PR P 12.6|78 3.6 8.9 05 365 63.8 18.8 47.3 1016.7 1018.9 0 0 NS
138 3.1(Fmm 11.4| PRI P 4.1 9.9 -13] 51.4 76.6 21.1 485 1019.4 1021.7 0 0 NES
148 2.5(Fmm 6.7(FIFa M 4.1 10.2 ol 482 70.8 24.9 48.3 1025.5 1027.7 0 0 0| RIS
158 3.6[FIrFM 19.3| PRI A 8.1 13.2 08| 537 74.1 33.8 49.9 1021.4 1023.6 0 0 NES
168 2.3|Fr P 13.3|FI 78 10.1 14 5] 589 80.8 38.6 52.5 1017.1 1019.3 0 0 NS
17H 2.3| P 17.5|FEPE 13.9 17.5 10.6] 834 97.2 62.2 61.7 1009.8 1011.9 2 4 16| =
188 1.3[dbdtE 7.5|dk = 11.3 14.7 9] 853 97.4 65.2 68.7 1010.2 1012.4 0 0 NE
198 2.1|Fara P 7.5/3k 8.7 12.5 54| 706 97.4 37.2 69.3 1015.7 1017.9 0 0 NS
208 2.3[dtdtE 7.2|dtdt &= 8.2 11.4 49 693 96.1 48.6 69.2 1014.8 1017 0 0 NE
218 2.3|FFa 9.2[dtdt = 7 11.9 34| 743 97.5 35.8 70.7 1013.8 1016 0 0 NE
228 4.1(JtdLE 17.8|dk k= 48 8.4 1.8 78 97.5 53.8 72.8 1012.8 1015 15 6 29[I2HH i’
238 3.7\ 16.2| 78 6.4 11.1 23] 597 97.5 33 68.9 1004.8 1007 0 0 NS
24H 4.7|FMf 20.5|Fm P 3.1 5.6 07] 368 425 29.1 59.2 1005.2 1007.4 0 0 NES
25H 3.1|{FEmA 16.7| PRI P 1.9 6.4 -23] 383 67.7 225 52.9 1007.1 1009.3 0 0 0| RIS
268 3| PR A 16.3|78 35 8.4 -0.8] 485 68 37.7 51.5 1004.5 1006.7 0 0 NS
27H 29(Fmf 12.9|FaEIF 3.3 10 ol 372 75 14.7 47 1 1012.4 1014.7 0 0 NES
288 2.6|FAFa P 19(FadE 4.4 9.2 -0.6] 66.1 88.6 40.8 52.8 1013 1015.3 0 0 NE
298 4.1(FaEF 20.8| FAEE FE 8 11.7 5] 506 64.1 38.3 52.1 1003.8 1006 0 0 NS
308 2.3|FaramE 12.1|FEFE A 4 6.6 04| 677 941 43.3 56.7 1012.4 1014.6 0.5 0.5 0.5|=
31H 2.6 | R P 6.4| R Fe P8 4.1 10.4 -06] 717 93.8 43.6 61.1 1018.7 1021 0 0 =
1 2.9|FE P 6.4 59.3 59.4 1012 1014.2
e 10.2(FA7E 235 17.5 97.5 72.8 1028.1 1030.4 2 75 29.5
#H8 [01/09 12:01 '01/09 11:55 '01/17 18:21 '01/23 07:12 '01/22 24:00 ['01/14 21:40 ['01/14 21:40 ['01/17 20:50 ['01,/08 19:39 ['01/08
=IE -2.3 14.7 471 991.2 993.3
¥ H '01/25 07:22 '01/27 14:59 ['01/27 24:00 '01,/09 13:26 |'01,/09 13:26
BE 90.5
B 0 6 5
R F4EE |k JtdtEE (b BHILHE [ EAEY D B R | alealii] kil sk e o] ] izl i B ] | o] ki)
(%) 2.2 9.2 45 2.2 1.2 1.1 1.9 24 4.4 35.6 13.9 14.2 3.5 1 0.7 1.1 0.9




2A B FEEE  (ES18m)
) (m/s) BRRIRA(m/s) = m (°C) ) E (%) & £ (hps) 55 = (mm) XML
Bt BIE &[] LR Bm | H¥EY Hxo H&IE EH Hxo H&IE =3 Rih B 107 RiEX | 1IGHERX |HEEWE | 9RIRE | 15IRE
18 3.9[dtdtE 15.5|dt LR 47 7.9 2.4 83 97.5 51.1 67.6 1021.5 1023.7 0.5 25 14| =
2H 6|dk b 17(dt 3t E 49 6.7 34 792 97.5 65 71 1021.1 1023.4 0.5 2 NESS
3H 2/dedeEE 8.7/dtdt 7 6 9.4 39 717 96.3 54.1 71.1 1013.1 1015.3 0 0 NE
4H 5.7| 78R 19({F 5.5 9.5 23] 556 975 24.4 66.4 1007.4 1009.6 0 0 o|8E
58 4.8|FaE P 17.7| 7B 7 5.3 8.9 24| 425 55.5 24.9 59.2 1008.2 1010.4 0 0 o|8E
6H 5.6| FaFg P 17.6|FaFE 7 3.9 7.4 16| 39.4 49.9 29.4 53.2 1009 1011.2 0 0 o|8E
78 45|FF 14.6|FAEI A 45 9 09 396 64.4 26.1 49 1011.2 1013.4 0 0 0| 1REE
8H 2.8|FAFg P 12.8|FAFATH 3.8 10.5 -0.7]  60.1 85.2 29.7 52.3 1016.8 1019.1 0 0 o|8E
9 2.8|FAFg A 8|7 4 10.9 -0.9 60 86.6 29.7 54.6 1022.4 1024.6 0 0 o|8E
108 2.7|FaFg 12.5|FE A 7.9 15.4 07] 609 96.6 34.1 56.4 1016.3 1018.5 0.5 15 25|85
118 6.6| Fi Fg 7 2257 9.8 15 42| 516 96.3 27.4 54.9 1001.7 1003.9 0 0 o|8E
128 5.8| FAEg 7 19.1|FATE 42 7.1 18] 394 472 30 50.2 1008.7 1010.9 0 0 o|8E
138 6.9| FaFg 7 18.5|Fam A 4.9 8.6 24 417 51.6 30.5 47.6 1011.9 1014.1 0 0 o|8E
148 5.1|FFA 21.4|FEP8 7.1 11.1 07| 46.8 73 27.2 47.3 1015.3 1017.5 0 0 o|8E
158 6.6| FA Fg 7 229|FEPE 13 17.5 8.6/ 399 57.5 31.6 45 1008.7 1010.9 0 0 o|8E
168 2(dbdL R 15.1|dtdL R 7.7 10.9 4 557 74 .4 40.8 481 1011.5 1013.7 0 0 0|rE
178 4.4|FE A 21.6|FPE 7.9 12.9 34| 527 96.6 24.1 49 4 1003.8 1006 0 0 o|8E
188 2|FEmE P 8.7[F 1t 4.6 9.2 0.1 55.7 77.7 36.6 51.2 1015.6 1017.8 0 0 o|8E
198 2.2|FAFg P 6.4[F It 4.9 10.2 -0.4] 66.7 86.3 39.7 55.8 1016.8 1019.1 0 0 o|8E
208 2.3[FmmAm 12.4|Fm 8 12 49| 647 90.2 36.3 58.4 1012.4 1014.6 0 0 0|2
218 2.3| AP 9.5[dLEE 6.7 9.9 2 60 93.6 42 4 58.8 1012.9 1015.1 0 0 0|2
228 3.2/dtdt 10{dtdt 5.2 6.7 1.9 85 95.8 73.8 66.6 1017.7 1019.9 0 0 0|2
238 2.4/dtdt 8.8/dtdt 6.1 9.4 25 836 97.5 59.7 71.6 1017.6 1019.8 0.5 0.5 0.5|2
248 A|FE P 13.9|Fm A 8.6 15.2 16|/ 60.3 975 22.2 68.2 1019.3 1021.6 0 0 o|8E
258 2.8/dtdt 9/dkdt 7.7 10.6 47 59 79.1 441 65.4 1021.9 10241 0 0 0|2
268 3.4/dtdt 11.9]dtdt 8.1 10.4 6.5 608 70.5 46.3 64 1019.1 1021.3 0 0 0|2
278 3|FEmE 13.9|Fm A 9.7 15 5.1 57 80.5 29.7 61.9 1019.7 1021.9 0 0 o|8E
| 28H 24|dtdt 13.5|db bR 10.6 14 45 54 97.4 38 59.4 1017.6 1019.8 0.5 15 1.5[8%
B3] 3.9[dtdt & 6.6 58.1 58 1014.3 1016.5
Re 12(FEFE T 22.9(FaFE 17.5 97.5 71.6 1024.9 1027.1 0.5 25 14
#£B8 [02/1118:28 '02/15 03:38 '02/15 13:33 '02/24 07:39 '02/23 24:00 ['02/25 10:05 |'02/25 10:05 |'02/28 24:00 |'02/01 23:59 |'02/01
=IE -0.9 22.2 45 998.2 1000.3
# H '02/09 06:18 '02/24 11:59 ['02/15 24:00 ['02/11 14:15 '02/11 14:15
BE 225
H# 0 3 5
R FEE |t JedbE [dbE BiLHE [ HER IED e Eale kil ki FHEa [i] i | i B i | i e
(%) 3] 208 7.5 1.8 0.7 0.7 1 0.4 1 21.4 14.7 21 1.8 0.6 0.6 2.2 0.8




3HA#H FEEBEE  (ES18m)
) (m/s) B e 5 K (m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KSR

BT AR EAQ] AR Bm | HEH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 6.8| P 26.2| FAEE 7 13.2 17.9 8.8 595 97.4 275 59.4 992.5 994.6 7.5 31 80|iE
2H 5.2| FAEg P 23.4|FAE P 10.7 17.3 52| 373 75 18.3 52.7 1004.3 1006.5 0 0 NS
3H 2.5|FE Pl 8.9|FFh 9.4 14.7 29|  63.2 93.8 41.3 55.8 1015.5 1017.7 0 0 NS
4H 3| Fa P 18.6|FEmI7a 15.8 21 99| 61.4 90.8 36.1 57.4 1016.6 1018.7 0 0 NS
5H 2.6|FEF P 18.2|F8 17.7 21.3 13.8] 8509 96.9 68.8 65.9 1007.4 1009.5 25 8 19.5|=
6H 3.4[t= 12.1[dbdb & 10.3 14 84| 61.6 86.1 48.3 64.6 1018.5 1020.7 0 0 0|=
7H 48[dbdL & 14.3|dvdb &= 7.3 9.1 55/ 53.2 63.3 44 4 61.1 1030.6 1032.9 0 0 0|=
8H 3.7/dtdt =& 14.5|dvdb & 9 10.5 7.2]  89.9 97.4 63.6 69.6 1019.7 1021.9 5 21.5 103 =
9H 2.4/dtdb & 14|Fm 15.2 19.5 8.3 785 97.2 57.7 72.2 1003.4 1005.5 9 23.5 705\
108 PRIE& 9.9[dtit=® 8.7 10.7 7.7 70 87.7 59.1 71.5 1015 1017.2 0.5 1 0.5[=
11H 2.4|F P 14.5(FG5F FE 11 16.8 6.6 575 95.2 16.9 67.3 1016.4 1018.6 0 0 NE
128 2.5(Fmm 8.8[FR 8.9 15.5 36| 728 93 42.2 68.9 1018.8 1021 0 0 NES
13H 3.4|F I P 19|FaF P 12.2 19.5 4.7 65 975 20 67.7 1019.3 1021.5 0 0 0|=
148 4.1(FaEFE 18.4|FaFm7a 17.2 23.4 10.4] 489 87.2 32.2 62 1017.4 1019.6 0 0 NS
158 4.1(f 17.6|FA T8 17.2 224 12.8]  60.6 85.8 36.6 61.5 1016 1018.1 0 0 NS
168 3.7/dtdt =& 16| ARG P4 15.2 18.9 8.3 748 97.2 62.7 65.4 1010.2 1012.4 0.5 1.5 15|
178 2.8[dtdt & 12.8|db 8.4 10.9 6.6] 51.6 81.3 33 61.2 1023.5 1025.7 0 0 NS
188 2.5|FaFa P 11.3|F TR 12.5 18.4 7.1 63 89.1 33.8 61.7 1022.3 1024.5 0 0 NE
198 4|FE P 16.7|Fa T8 16 18.7 13.1 68.4 94.1 56.6 63.6 1014.1 1016.2 0.5 0.5 0.5| =
20H 5.4[t b= 15.5|dt LR 10.1 13.1 8.1 87.8 97.2 71.6 70.8 1015.5 1017.7 1 3 15.5|/
218 6.9/dtdb & 21.8[dtdbE 6.4 8.7 49 923 97.4 74.1 77.1 1014.4 1016.6 15 6 52|/
228 3.1[dedbE 16.5|FaE7a 12.5 18.9 8.6] 736 97.4 41.9 76 995.5 997.6 2 5 12.5|/
238 1.9/dbdbE 13.7|dbdk | 12 16.3 8.8 67.4 90.8 40.8 73.3 1009 1011.2 0 0 NE
24H 3[dkdbEE 11.9|FaRIA 12.8 16.9 10.4] 59.8 80.2 38.6 69.2 1016.3 1018.4 0 0 NES
25H 2.3[Famm 9.1[FIFM R 12.5 18.3 7.4 591 82.5 37.7 66.1 1017.8 1019.9 0 0 NES
268 24| 10.1|F 78 14.3 22 7.3] 635 90 31.9 65.3 1017.4 1019.5 0 0 NS
278 1.9|Fra M 12.6|FE A 15.7 21.2 99| 597 93.3 33 63.6 1016.3 1018.4 0 0 NS
288 2.7| PP 17.7|F A 17.8 23.7 11.9 62 94.4 29.4 63.1 1014.2 1016.3 0 0 NS
29H 2.4[FAr A 14.4| PRI P 18.6 24.6 13.2 57 86.3 28 61.2 1012 1014.1 0 0 NES
308 2.7[dtdb = 13.6/db k| 14.3 17.4 125 488 77.7 30 57.5 1018.4 1020.6 0 0 0[fE
318 2.2/dbILE 13[dL & 14.4 18.7 98] 58.1 71.5 44 1 57.6 1020.8 1023 0 0 NS
EH 3.3[dtdt= 12.8 64.9 64.8 1014.5 1016.6
55 13.9|FEFE 7 26.2|FAEg P 24.6 97.5 77.1 1033.1 1035.4 9 31 103
#£H ['03/02 00:03 '03/01 10:05 '03/29 16:06 '03/13 06:54 '03/21 24:00 ['03/07 10:35 |'03/07 10:35 |'03/09 03:02 |'03/01 05:35 |'03/08
=IE 2.9 16.9 52.7 984.5 986.6
¥ H '03/03 06:29 '03/11 14:15 ['03/02 24:00 |'03/01 10:33 |'03/01 10:33
BE 355.5
B 0 0 10

R F4EE |k JtdtEE (b BHILHE [ EAEY D B R | alealii] kil sk e o] ] izl i B ] | e} ki)
(%) 32| 251 8.3 3.2 1 1.1 2.1 3 42 20.1 11.7 11.3 25 0.8 0.5 1.1 0.8




4H AR FEEE  (ES18m)
1 (m/s) BRRIRA(m/s) = m (°C) iR E (%) & £ (hps) 55 = (mm) XM

Bt BIE &[] LR Bm | H¥EY Hxo H&IE S Hxo H&IE =3 Rih B 102 RimEX | 1IGHERX |HEEW=| oRIRE | 15IRE
18 25|/ 12.3|F8 16.7 20.7 12.6] 655 81.1 48 59.9 1015.8 1017.9 0 0 0|fE
28 1.5/t 6.4/ 17.8 22.8 13.2] 684 96.1 41.3 62.4 1014.5 1016.6 0 0 o|mE
38 3.3[dtdtE 17.8|FaE A 19.3 24.5 16.3 67 92.5 46.3 63.8 1015.1 1017.2 0 0 o|fE
48 3.5|FEF 16.8|FA T 20.8 25.8 152 595 89.1 38.6 62.5 1010.5 1012.6 0 0 0|fE
58 1.8|FJtLE 10{dtdt s 14.6 20 126] 79.6 96.9 52.4 67.5 1017 1019.2 0 0 0|2
68 3.4|FEramE 19.9|F7E 18.6 23.7 12.8] 785 96.9 41.1 70.8 1006.5 1008.7 15 45 8.5|=2
78 5.1|FP 24 A PG 16.2 21.3 10 488 93 32.2 64.2 998 1000.1 0.5 5 25|2
8H 6.5| Fi Fg 7 16.7|FA T8 11.3 15.3 85| 426 57.5 28.3 57.7 1009.6 1011.8 0 0 o|8E
9 6.1|FAEg P 20.7|FE P8 13.8 18.6 95| 448 50 36.1 53.8 1013.6 1015.8 0 0 NETS
108 2.1|FaFg 12.6|FARIFE 13.2 18.8 7.2 59 85.8 31.6 55.3 1019.6 1021.8 0 0 0|BE
11H 4.6|F7 20.2| P8 17.4 21.8 10.6] 64.1 83.6 47.2 57.9 1011.8 1013.9 0 0 0|/
12H 45| 18.3|FATE 20.9 26.3 14.3] 509 91.3 22.4 55.8 1006.9 1008.9 0.5 0.5 0.5|2
138 2.4|FFg P 12.9|F A 14.8 20.4 10.6 57 88 24.1 56.1 1017.6 1019.7 0 0 o|8E
14H 2.1|FaramE 9.6|F 14.7 18.9 10.7] 799 96.1 58 63.2 1017.2 1019.4 0.5 0.5 1E
158 31| 16.5[FFFg A8 18.9 24.9 126] 676 97.2 34.1 64.5 997.8 999.8 15 5.5 24|/
168 2.2|FAFg P JIES 14.4 19.9 99| 56.7 80 32.7 62.1 1013.1 1015.2 0 0 o|8E
17H 3.2|dtdtE 13.50dt 13.8 15 126] 784 97.2 64.7 66.9 1021.4 1023.6 2 8.5 26.5|05
18H 3ldbdbE 14.3[dede s 14 17.2 12.8]  88.1 97.2 64.7 73.2 1013.6 1015.7 2 10 34|/
198 1.7|FE P 10| EI A Pa 17.3 23.6 12.5]  65.8 96.3 36.3 71 1014.5 1016.7 0 0 0|=
208 1.5[dbdbE 5.9/ 18.7 26.2 14.1 63.1 89.1 28.3 68.6 1015.5 1017.7 0 0 o|8E
218 4.5|FaEIF 19(FEra A 19.8 26.8 12.3] 535 92.5 25.8 64.1 1018 1020.2 0 0 o|8E
22H 2.7/dtdbE 14.1|FEFgFAE 20.7 27 16.6] 55.8 83.8 34.4 61.5 1015.6 1017.7 0 0 o|8E
238 1.3[dbdbE 12.9/db 17.5 19.5 15.8] 82.8 91.9 65.8 67.8 1018.1 1020.2 0 0 0|2
248 1.5|FAra 8.8|FAEI P 18.7 23 155 776 96.9 51.1 70.7 1012.1 1014.2 0.5 15 15|
258 2.5|FIFgF 15.1|FadE 20.4 27.8 16.9 80 96.9 49.7 73.4 998.9 1001 6 25 71|/
268 1.8|F P IESGES 17.9 22.6 13.9] 649 93.6 355 70.8 1007.8 1009.9 0 0 0|rE
278 1.6|FAFa R 7.2|78 18.3 22 145 709 84.4 59.7 70.8 1007.9 1010.1 0 0 o|8E
28H 2|FFg P 12.2|FmE 18.8 25.1 14|  66.7 92.4 29.9 69.5 1010.8 1012.9 0 0 o|8E
298 2.4|FIFg P 10.7|FA R 20.7 27.3 16.6] 57.3 83.3 29.7 65.8 1015.3 1017.4 0 0 o|8E

| 30H 3.6|FARE P 13.7|FEFm 7 21.3 26.5 16.7] 605 87.2 31.3 64.2 1014.2 1016.3 0 0 NS
I 15 2.9[Fmm 17.4 65.2 64.5 1012.3 1014.4
Re 10.2|FA TR 24.4|FE P8 27.8 97.2 73.4 1023.8 1026 6 25 71
#£B8 ['04/09 16:07 '04,/07 13:11 '04/25 14:12 '04/18 07:54 '04/25 24:00 ['04/17 10:35 ['04/17 10:35 |'04/25 09:25 |'04/25 09:30 |'04/25
=IE 7.2 224 53.8 993.5 995.5
# H '04/10 05:48 '04/12 13:07 ['04/09 24:00 '04/15 14:47 |'04/15 14:47
BE 169.5
H# 9 0 9

R FEE |t JedbE [dbE BiLHE [ HER IED e Eale kil ki ik ok [i] i | i B i ki e
(%) 25 126 5.5 2.7 2.1 25 3.8 4 46 22.1 15 17 2.8 0.8 0.5 0.7 0.8




58 A% FEEBEE  (ES18m)
) (m/s) BRRIRA(m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KSR
BT AR EAQ] AR EMR [H¥EH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 1.7|F P 6.3[FadE 215 27.8 15.7]  60.1 87.7 27.7 62.9 1013.8 1015.9 0 0 NS
2H 1.3|F R 6.2[FIF R 20 24.9 157  73.1 96.6 52.5 65.9 1010.8 1012.9 1.5 5 9| =
3H 3| FE P 14.9|F A 21.9 26.8 175 665 96.6 40.5 66.1 998.7 1000.8 1 25 7=
4H 4.9(FaREI P 20.9|FaEg 7 18.4 21.1 154 349 44.1 29.9 56.7 1005.7 1007.8 0 0 0| HREE
5H 5.7| PR P 18.2|FamEm7a 19.4 23.6 15  36.5 45 28.8 50.6 1012.4 1014.5 0 0 NS
6H 3.9(F 19.5|F 20.9 27.9 14.1 50 74.1 23.8 50.3 1011.5 1013.6 0 0 NETS
78 2.8[dtdt & 14.5|dvdb & 17.8 21 15.1 85.2 96.9 61.6 60.7 1005.2 1007.3 3.5 9.5 34|/
8H 5.4/dtdt & 14.2|dvdb &= 13.8 15.2 126] 925 96.9 80 70.2 1010.4 1012.6 2.5 9.5 51|/
9H 6.1]dtdL & 18.7/3t 3t 13.8 16.4 11.8] 795 96.9 61.3 72.9 1012.6 1014.8 3.5 13.5 69|/
108 1.8[dtdbE 12.6/3t 3t 14.6 18 12.1 71.2 90.2 47.7 72.3 1015.5 1017.7 0 0 0|=
118 29(FmM 17.9|FaEI A 16.6 22.4 98] 648 94.4 46.1 70 1016.6 1018.8 0 0 NES
128 3.1| PP 17.5|F A 20 26.4 13.3] 548 86.9 22.7 65.4 1013.9 1016 0 0 NS
138 22| 12.1|F 78 19.2 23 17.3] 799 96.6 62.5 69.7 1008.4 1010.5 25 11 30[=
148 29(Fmm 13.9|FEm A 21.9 27.9 17 685 96.6 39.9 69.3 1003.8 1005.9 0.5 0.5 0.5|1RiE
158 2.7(Fmm 11.4|FARI P 22.7 29.3 154] 51.7 85.2 30.2 64 1010.6 1012.7 0 0 NETS
168 2.6(FF8 14.3| PRI A 23.9 28.9 18.9] 455 67.5 30 58.4 1010.1 1012.1 0 0 NES
178 44| P 22.3|FEI P 24.7 28.8 226 652 81.6 53.3 60.4 1005.5 1007.6 0 0 0|=
18H 3.7(FEmA 16.9| PRI A 24.7 30.8 21.1 75.2 89.9 51.3 64.8 1003.4 1005.4 0 0 NETS
198 3.8|FAEE A 17.1|Fa T8 23.6 28.2 182  71.1 92.5 47.7 66.6 1000.9 1003 0 0 NS
208 HEEE 12.6|ILH 17.4 21.7 13.1 55.1 72.5 32.4 63.1 1015.7 1017.8 0 0 NETS
218 1.6|FaRIP 12.2|FE 7 19.3 25.8 134 521 74.9 24.1 59.8 1018.1 1020.2 0 0 NE
228 2.3[Famm 6.9|RJLE 19.1 25.7 13.3] 665 91.3 30 61.7 1016.7 1018.8 0 0 NETS
238 1.7\ f 6/dk 17.7 21.3 147 874 96.9 60.8 69.3 1008.2 1010.4 0.5 15 25|/
24H 1.5/dbdL R 6.6[dt b= 20.5 26.5 17.5 78.6 96.6 455 72 1002.5 1004.6 0.5 1 2.5|0%
258 43|’ me 20.3|Fa R P 23.4 29 17.2 56 94.7 22.7 67.2 1004.8 1006.8 0 0 NE
268 1.8|FAFA T 10.3| a7 22.6 26.1 19.6] 559 80.5 39.1 63.7 1007 1009.1 0 0 NE
278 1.8|dbdL R 71| 22.3 27.2 17.9] 654 84.9 47.2 64.2 1008.6 1010.7 0 0 NETS
288 1.7|Fa 08 11.3|F TR 22.9 25.7 204 597 72.5 46.9 62.8 1011.4 1013.5 2 2 2| =
298 1.5|Fa P 7.1|FE 22.9 27 19.8]  71.7 89.1 52.5 65.4 1013.1 1015.2 0 0 NE
308 1.4|FA R P 43|dbdbE 20.1 23.6 17| 885 96.6 75 72.3 1011.5 1013.6 1 25 6|[CHHF
318 2.5|FHEA P 16.1|FEE 78 19.6 21.7 16.7] 804 96.6 61.3 74.7 1004.7 1006.8 0.5 0.5 0.5[Z
1 2.9|FE P 20.2 65.9 64.9 1009.4 1011.5
e 13.3|Fam A 22.3|FEm A 30.8 96.9 74.7 1019.6 1021.8 3.5 13.5 69
#£H [05/17 12:18 '05/17 12:09 '05/18 13:27 '05/23 21:17 '05/31 24:00 ['05/20 22:05 |'05/20 22:05 |'05/09 03:09 |'05/09 04:33 |'05/09
=IE 9.8 22.7 50.3 996.6 998.6
¥ H '05/11 04:53 '05/25 17:17 ['05,/06 24:00 |'05/03 15:38 |'05/03 15:38
BE 214
H# 18 0 12
R F4EE |k JtdtEE (b HiLE [E EAEY D B R | alealii] [k sk e o] ] izl i g i | e} ki)
(%) 3.1 18.7 5.5 3.2 1.4 1.2 2.4 42 42 21.9 12.9 15.5 3.1 0.8 0.6 0.7 0.6




6H ARk FEEE  (ES18m)
1 (m/s) BRRIRA(m/s) = m (°C) ) E (%) & £ (hps) 55 = (mm) XM
Bt BIE &[] LR Bm | H¥EY Hxo H&IE EH Hxo H&IE =3 Rih B 102 RimEX | 1IGHERX |HEEW=| oRIRE | 15IRE
18 1.6|FAFA P 7413t 21.1 26.1 16.3] 656 94.1 34.7 71.9 1008.1 1010.2 0 0 0|fE
2H 1.8|FAra P o|FErEmE 215 25.5 179] 718 93.6 49.1 71.8 1013.8 1015.9 0 0 NETS
3H 2.1|FarFg 10.8|FE R 21.3 27.1 16.5 73 95.8 28.8 72.1 1014.9 1017 0 0 o|fE
4H 1.9|FAra M 6.4|Fg 22 28.6 175 712 95 33 71.8 1013.8 1015.9 0 0 0|fE
5H 1.9|FAra 7.5/t 78 225 28 17.6] 68.4 95 43 70.8 1012.8 1014.9 0 0 o|8E
6H 1.1|FAra i 5.8| FAFE P 19.4 22.6 17 917 96.6 68.3 77 1011.1 1013.2 15 5.5 35.5|F
78 1.1[dbdbE 6.5|F 78 222 27.2 18.9] 753 96.6 422 76.4 1011.4 1013.5 0.5 2 35|85
8H 2.8|FEmE 15.9|FEEFE 24.2 29.1 19.6] 718 94.9 48.3 75 1006.6 1008.6 1.5 35 5| i
9 1.8{dbdbE 10.2| A Fa 25.8 31.4 215 682 96.1 36.9 72.9 1001.8 1003.8 2 5 5| i
108 4.4(bdLE 13.4[dtdt 21 24 193] 894 96.6 775 77.8 1006.5 1008.6 15 4 24 5|IZHHTl
118 3.9[dtdtE 13.2|dtdt 21.4 24.2 19.9 92 96.3 76.1 82 994.2 996.2 1 35 235|/
128 1.9|dtdL R 11.7| PRI A 23.5 29.9 204 77.2 94.1 44 4 80.5 993.1 995.2 0 0 0|BE
138 1.5[dbdbE RAEGED 225 26.5 209 767 87.7 46.9 79.3 1000.8 1002.9 0 0 o|8E
148 1.6{dtdbE 142 22.2 25.9 199] 718 93.6 48 77 1007.5 1009.6 0 0 o|8E
158 45(dbdLE 14.2|dcdt 19.7 215 17.9] 932 95.8 88.6 81.8 1006.2 1008.3 0.5 1 25|2
168 3.6[dtdtE 14{3t 3t 17.3 18.1 15.9] 839 96.6 76.1 82.4 1010.7 1012.8 0.5 0.5 0.5|2
178 1.5|dbdL R 4.9(dcdt 18.3 225 15.7] 825 96.6 54.9 82.4 1014 1016.1 0.5 0.5 0.5|8%
18H 3.1[dtdbE 13.8[dtdt 18.9 20.6 17.1 95.5 96.6 82.2 86.3 1009.6 1011.7 1 35 13.5|/
198 1.8|dbdL R 8.6| FaFg 7 23 27.9 18.8] 685 93.8 441 80.9 1007.2 1009.3 0.5 0.5 0.5|8%
208 0.9(dtdtE 5.8[dtdtE 20.8 22.4 19.6] 937 96.3 75 84.7 1002.1 1004.2 8.5 29 103.5|/
218 2.3[dtdbE 19.7|FAm A 21.9 243 196/ 84.6 96.3 61.3 84.7 1000 1002.1 8.5 32 50| 2
22H 2.1[dtdbE 14.2|FmE 24 28.7 195] 677 93.3 43.3 79.6 1005.4 1007.5 0 0 o|8E
238 1|FAFaP 5.5| FEAFEPE 20.5 23.3 18.6] 907 96.3 67.5 82.9 1004.7 1006.8 25 6 19/
24H 1.6[dLIL R 13.1|FAFI T 22.3 26.4 195 822 96.3 52.2 82.6 1003.4 1005.5 25 9 155|538/
258 1.8|F P 7.7|FEram 25.9 31.6 21.7 68.8 90.8 41.9 78.4 1009 1011 0 0 NEIS
268 2.4|FIFg P 11.7|FmE A 26 31.3 214 733 94.7 49.1 76.8 1012.5 1014.6 0 0 o|8E
278 5.2| FAEg P 18.7|FATE 27.3 30.4 25.1 73.4 84.7 59.1 75.7 1006.3 1008.3 0 0 o|8E
28H 49|FEP8 16.7|FE PR 27.3 29.5 26.1 79.3 89.9 65.8 76.7 1005.4 1007.4 0 0 o|8E
298 28|Frm 12.1|FadA 27.9 32.4 248 759 92.2 54.9 76.4 1010.4 1012.4 0 0 o|8E
| 30H 2.9|FaEg 7 9.9(FEFAFE 28.9 34.5 245 705 93.6 45.8 74.6 1015.8 1017.8 0 0 NS
B3] 2.4ldtdb R 22.7 78.3 78.1 1007.3 1009.4
Re 9.5|FAEg P 19.7|FEFE A 345 96.6 86.3 1018.2 1020.3 8.5 32 103.5
#£H8 [06/21 19:37 '06/21 19:29 '06/30 13:32 '06/18 20:35 '06/18 24:00 ['06,/30 23:01 |'06,/30 23:01 |'06/21 01:41 |'06/21 02:27 |'06/20
=IE 15.7 28.8 70.8 988.4 990.4
# H '06/17 01:05 '06/03 14:20 ['06,/05 24:00 ['06/11 16:23 |'06/11 16:23
BE 302.5
H# 20 0 15
R FEE |t JedbE [dbE BiLHE [ HER IED e Eale kil ki ik ok [i] i | i B i | i e
(%) 45 277 8 2.6 1.7 2 2.8 3.1 3.8 19 10.2 9.3 1.7 0.7 0.6 15 0.8




7H A% FEEBEE  (ES18m)
) (m/s) B e 5 K (m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KSR

BT AR EAQ] AR EMR [H¥EH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 21| 8.8|FIRIE 28.2 325 24| 724 94.1 53 73.9 1017.1 1019.2 0 0 NS
28 29(F@m 14.3|Fa 78 28.9 34.1 252 678 85.2 475 72 1013 1015 0 0 NE
3H 3| 11.9|Fa 78 28.5 33.3 24.1 63.4 81.6 38.3 69.4 1008 1010 0 0 NE
4H 3.7\ 18.3|FI 78 27.9 32.4 249 735 94.4 54.4 70.6 1003.8 1005.8 1.5 2 5|/
5H 3.3[FImm 15.8|F 78 27.1 29.3 25.3 79 92.4 62.4 73.1 1004.1 1006.1 1.5 25 55|/
6H 1.7|Fad 13.4|F 78 25.4 27.9 21.7]  88.4 96.1 76.9 77.6 1007.9 1009.9 25 5 8|’
7H 1.4|F R P 9.5(F MR 25.5 30.2 21 82 96.3 63.6 78.9 1010.7 1012.8 0 0 NES
8H 1.8|FA P 7.8 R 26.3 30.9 223 805 93.8 63.3 79.3 1013.8 1015.9 0 0 NES
9H 1.5|F R P 7.1|FIra e 26.1 32.2 228 857 95.8 61.1 81.2 1017 1019.1 7.5 17.5 17.5|/
108 1.8|FARI P 8.9|F 28.3 33.1 233  71.9 95 49.7 78.4 1016 1018.1 0 0 NS
118 1.8|FHrA P 8.5|78 29.4 34.3 26.1 66.8 82.2 46.3 74.8 1012.6 1014.6 0 0 NS
128 1.1[dbdbE 6.9[dtdbE 26.7 30.3 25| 83.2 94.1 63.6 77.2 1011 1013 0 0 0|=
138 1.5|dbdL R 5.6[FIF M 28.6 34.8 24.7 76.2 925 458 76.9 1007.8 1009.9 0 0 NES
14H 1.3|FmM 59|%F 30 36 25|  67.8 91.3 36.9 74.1 1008.4 1010.4 0 0 0| RIS
158 1.7|Fa R P 6.7(FIF R 29.7 35.1 25.2 74.6 93 47.7 74.2 1010 1012 0 0 NES
168 1.9|F R i 8.8[FIF M 30.6 36 27.7 67.2 81.1 50.2 72.1 1009.7 1011.7 0 0 NES
178 3.6[FFMAm 12| ARG P 30.3 33.8 275 72.3 79.9 61.9 72.1 1009.2 1011.2 0 0 NETS
188 2.7| PP 12.5|FE 31.3 36.8 286 716 86.9 50.8 71.9 1008.1 1010.1 0 0 NS
198 1.7|FaEd 8| P P 30.5 34.6 277 71.2 86.9 52.7 71.6 1008.6 1010.6 0 0 NETS
208 2|FE 79| P 30.9 36.8 26.8] 66.8 85 425 70.1 1009.5 1011.5 0 0 NS
218 4| FaEE P 16.3|FEE7a 30.7 35.6 278  69.2 80.5 51.6 69.8 1008.9 1010.9 0 0 NS
228 3.3| A A 14.7|F A 31.6 37.3 286 69.7 83.3 474 69.7 1006.7 1008.7 0 0 NS
23H 1.2|FA P 6.2[FIFa M 31.9 37.2 278 646 91.3 42.7 68.1 1003.8 1005.8 0 0 NES
248 1.7]dtdtE 5.6/dtdLE 29.3 34.2 25.8 79 92.5 56.3 71.3 1004.5 1006.5 0 0 NE
258 1.5/dtdbE NIEE[& 28.9 32.8 26.7] 81.4 95.2 62.4 74.3 1006.8 1008.8 0 0 NE
268 1.8|dtdtE 7413k 26.5 29.7 235 758 96.1 53.3 74.7 1007.6 1009.6 25 9 14|/
278 3.4/dtE 11.8|dtdb & 26.8 30.3 24.1 65.5 84.4 48 71.9 1006.3 1008.3 0.5 0.5 0.5|85
288 6.6/dtdLE 275(dtdbE 25.1 28.7 21.6 91 96.1 72.2 77.6 998.4 1000.4 3.5 10 455|=
29H 1.8|FE 10| MR R 27.7 31.2 25.5 86 95.8 65.5 80.1 1002.8 1004.8 1.5 3 3.5|0F
308 1.7(dtdbE 6.1|dbdb == 28.3 33.4 26.2 77.8 93.3 48.8 79.4 1006.6 1008.6 0 0 o[fE
318 1.9]ddL 6.3| FIE IR 29 34.1 2471 733 94.4 45.2 71.5 1004.6 1006.6 0 0 0|fF
EH 2.3[Fmm 28.6 74.7 74.3 1008.5 1010.5
e 13.4[dbdL 275(dbdbE 37.3 96.3 81.2 1018.8 1020.9 75 17.5 455
#H [07/28 18:42 '07/28 16:25 '07/22 13:17 '07/07 03:53 '07/09 24:00 ['07/01 07:23 ['07/01 07:23 ['07/09 09:38 ['07/09 10:05 ['07/28
=IE 21 36.9 68.1 989.6 991.6
¥ H '07/07 03:21 '07/14 14:48 ['07/23 24:00 |'07/28 17:16 |'07/28 17:16
BE 99.5
B 31 0 8

R F4EE |k JtdtEE (b HiLE [E EAEY D B R | alealii] [k sk e o] ] izl i g i | e} ki)
(%) 33 167 7.7 3.3 2.1 25 3.9 6.1 6.1 18.3 11.1 12 3.2 1.1 0.7 0.8 1.1




8H A% FEEBEE  (ES18m)
) (m/s) BRRIRA(m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KSR

BT AR EAQ] AR EMR [H¥EH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 23K 14.4|F 08 30.7 36.7 26.6] 66.6 84.4 43 74.2 1001.7 1003.7 0 0 NS
2H 19|78 10.9|Fa 78 31.8 36.8 28.4]  65.1 82.5 41.6 71.4 1002.8 1004.8 0 0 NS
3H 1.6{dtdtEE 5.5(dt 31.1 36.6 27.1 70.5 91.1 45.5 71.1 1003.9 1005.9 0 0 NS
4H 1.8[dbdtE 6.6|F 29.9 33.3 27.1 75.4 92.2 58 72.3 1005.2 1007.2 0 0 NS
5H 2| PR P 12.3|FEmEm A 31 36.4 26.6 70 93.3 49.9 71.6 1002.7 1004.7 0 0 NS
6H 2.2|dedt 10.7/3t 3k 30.5 35.5 256 738 95.8 52.2 72.2 1001.6 1003.6 1.5 4.5 6.5|=
7H 5.8/dtdt 15.4]3t 3k 25.8 26.8 249 81.2 95.8 72.5 74.9 1004.7 1006.7 0.5 25 0.5[=
8H 5.3/dtdt 17.6]3t 28.1 30.3 249 76.9 95.5 65.8 75.5 997 999 1.5 45 45|/
9H 2.4|Fr8 129|578 30.3 35.1 26.4]  69.1 91.9 474 73.5 996 998 0 0 NS
108 3.9(FM 17.1{Fad8 30.8 35.9 282 667 81.9 458 71.4 1000.1 1002.1 0 0 NETS
118 29[ 13.9|FaREI A 30.8 35.8 29] 673 77.4 475 70.1 1002.4 1004.4 0 0 NES
12H 1dtdb = 6.5|FFI FI PG 27.1 29.4 25.6 90 95.8 74.7 76 1007.9 1010 9.5 18.5 R ES
138 1.9(Fad 10.4|FA 78 29.2 34.7 254 715 94.7 52.5 76.4 1009.7 1011.7 0.5 0.5 0.5/ 85
148 3| PR A 9.7| PR A 30.2 35.9 26.7] 70.2 90.5 41.3 74.5 1011.6 1013.6 0 0 NS
158 29[ 9.2[FIFM R 29.1 33.6 26.2 76.4 94.9 55.8 75 1012.2 1014.2 45 5 8|RE
168 3.7\ 15.4|F 78 29 32.3 252 725 95.8 54.1 74.2 1005.5 1007.5 0 0 NS
178 22|FHILE 13.3| PRI A 27.7 32 22.7 57.2 84.4 28.6 69.1 1005 1007 0 0 NES
188 2.6[dtdLE 13[F It E 23.7 27.4 18.7]  55.1 88.8 39.9 64.8 1011.1 1013.2 0 0 NS
198 2.3[Famm 6.4/dtdL & 23.1 29.2 182 69.6 93.8 37.7 66.2 1012.7 1014.8 0 0 NS
208 1.3|dbdtE 7.4|dbdb R 24.2 28.2 204 77.2 96.3 48.6 69.4 1011.4 1013.5 5 5 8.5| =
21H 1.4\ P 10.6|FARIR 27.1 33.2 233 821 96.1 59.9 73.2 1010.6 1012.6 0.5 2 0.5|H%
228 2.1[Famf 12[FEILE 29 36 25.1 77.8 93.8 58.3 74.5 1012 1014.1 0 0 0[fE
238 25|FMER 13.5|F M ER 27.6 32 24.6] 88.6 94.7 71.3 78.7 1011.9 1014 75 8 1152
248 3|FEFE 18.4|F8 28.3 31.7 256 826 95.8 65.8 79.8 1008.6 1010.6 9.5 21 70|/
25H 6.4(Fa M8 23.7|FAm A 30 34.1 27.2 73.8 86.3 65.8 78 1008.5 1010.5 0 0 NES
268 4.8(FaEIF 17.7|F A 31.4 36 276 709 84.1 63.6 75.8 1008.4 1010.4 0 0 NS
278 1.3[dtdtE 9.6/dt 29.7 34.4 26] 77.2 89.9 50 76.2 1009.5 1011.5 0 0 NE
288 1.3[dtdtE 6.3[dtdt = 27.7 31.5 255 837 94.4 77.2 78.4 1010 1012 0 0 NE
298 1.5|FrmE 12.8|db b= 26.3 28.9 245 879 94.7 73.8 81.2 1010.6 1012.7 0 0 NE
308 32| 16.9|FEE 7 29 35.3 23.7] 709 94.9 38.6 78.1 1009.6 1011.6 0 0 NS
318 3.6/ 16.1|F 78 30.8 34.2 274 641 82.2 53.3 73.9 1006.4 1008.4 0 0 NS
1 2.7[dtdL & 28.7 73.8 73.9 1006.8 1008.8
e 13.5|Fam A 23.7| AP 36.8 96.3 81.2 1014.6 1016.7 9.5 21 70
#£H8 [08/25 18:08 '08/25 18:15 '08/02 14:11 '08/20 04:30 '08/29 24:00 ['08/19 09:16 ['08/19 09:16 |'08/24 05:06 |'08/24 05:52 |'08/24
=IE 18.2 28.6 64.8 993.3 995.3
¥ H '08/19 05:23 '08/17 15:19 ['08/18 24:00 |'08/09 01:51 |'08/09 01:51
BE 1455
H# 31 0 10

R F4EE |k JtdtEE (b BHILHE [ EAEY D B R | alealii] kil sk e o] ] izl i B ] | e} ki)
(%) 4.1 18.4 6.2 29 1.7 1.6 29 5.2 5.4 16.8 15.8 13.2 3.3 0.6 0.5 0.6 0.8




9H AR FEEE  (ES18m)
1 (m/s) BRRRA(m/s) = m (°C) iR B %) & £ (hps) 55 = (mm) XM

Bt BIE &[] LR Bm | H¥EY Hxo H&IE S Hxo H&IE =3 IRih B 102 RimEX | 1IGHERX |HEEW=| oRIRE | 15IRE
18 31| 16.9|7EFa 275 32.7 244 737 93.6 51.6 73.8 1006.4 1008.5 15 25 45|/
28 1.9(dtdb & 8.7[dtdt = 235 25.4 216 883 96.1 79.7 78.1 1011.3 1013.4 15 45 75|/
38 1.1|FAra i 41|dedb 24.1 27.9 225 89.4 96.1 70.5 81.4 1009.5 1011.6 15 3.5 7|/
48 3.3| g 22|/ 26.1 29.3 22.9 88 96.1 67.7 83.3 1002.7 1004.7 3 75 34| 2
58 41|FFE 18.6|FATE 275 32 22.1 71.1 95.8 51.6 79.6 1001.1 1003.1 11 34 50.5|B&
68 3.8|Fm 13.6|F 78 27.7 30.6 26 62 81.3 475 74.3 1006.1 1008.1 0 0 0|2
78 27| IATE 275 31.9 243  76.4 92.2 55.5 74.9 1008.3 1010.3 0 0 o|8E
8H 2.4|FEFg P 11.6|FEFEFE 27.7 32.4 242 715 95 57.7 75.6 1010.3 1012.3 4 8.5 9.5|kF
9 2.1|FaFg 10.6|FEEI 78 27.4 33.5 236 754 95.5 43.8 75.5 1012.9 1014.9 3 35 3.5k
10H 1.4{dbdbE 8.5|dt 7 24.6 28.6 225 906 96.1 76.1 80 1011.4 1013.5 12.5 24 52.5|/
11H 3.9[dtdtE 14.4[FEILE 23.3 25.5 21.4] 743 94.9 57.5 78.3 1017.2 1019.3 0 0 0|2
12H 4.3(dbdLE 12.8|dbdb R 22.2 24.4 20.1 66.1 85.5 52.7 74.6 1020.5 1022.6 0.5 1 2|2
138 1.9|FAra 7|dbdb | 22 25.8 18.2 77 95.5 54.1 75.2 1018.4 1020.5 0 0 0|2
148 1.5|FAra 7.5|dbdb | 21.4 22.9 20.3] 946 96.1 86.3 81 1016.8 1018.9 3 7 26.5|F"
158 1.1]3k 5.8[dtdtE 21 22.4 20.3]  95.4 96.1 92.2 85.3 1013.6 1015.7 5.5 14 44|/
168 0.5|FIFIFa 3.4[dtdtE 22.1 24.4 208] 929 96.1 82.5 87.5 1011.1 1013.2 1 15 25|2
17H 1.6{dtdt 11|FEfgFa 25.5 31.8 212 783 96.1 458 84.7 1009.2 1011.3 0 0 o|8E
18H 1.6{dtdt 6.3[dtdLE 24.3 28.3 21.6] 80.8 93.6 56.3 83.5 1011.9 1014 0 0 0|2
198 2.5[dtdt 10.9[de itz 22.9 27.9 19.7 68 96.1 29.4 78.8 1012.2 1014.3 3.5 5 55|
208 2.8/dtdt 14.4]db k= 20 23 18.1 91.6 96.3 76.1 82.6 1012.6 1014.7 15 6 29.5|/
218 1.7]3t 8ldtitEE 19.6 20.6 18.3 96 96.3 95.8 86.6 1010.3 1012.4 15 45 17.5|/
228 1.2|FAra 8.5[dtdtE 23.1 27.1 20| 9238 96.1 87.7 88.4 1007.4 1009.5 0.5 0.5 0.5|2
238 2|FEmE P 7.2|dbdb R 24.4 28.7 215  80.9 95.8 58.3 86.1 1013.8 1015.9 0 0 0|2
248 1.7|Fara 43|dbdbE 25.1 30 22.1 82 93.6 62.5 84.8 1012.9 1015 0 0 o|8E
258 2.5[dtdt 10.5[dedb & 22 24.8 20.4] 941 96.1 89.1 87.5 1012.1 1014.2 5.5 17 45|/
268 5.6/dtdt 17.2]dk k| 19.5 21 175  90.6 96.1 79.1 88.4 1014.3 1016.4 4 10 375|/
278 3.6/dtdt 17.4]db b 18.2 20.4 16.4] 88.8 96.1 82.7 88.5 1011.2 1013.3 25 7 11| 2
28H 2.2|FAFg P 5.6/ FILEE 20 26.6 159] 778 95.8 37.4 85.2 1014.8 1016.9 0 0 o|8E
298 2.3|FEAF P 10.1|db R 18.7 20.6 17] 924 96.3 81.1 87.3 1016.9 1019 0.5 1 55|/

308 25|3b L 41|FEFE e 21.4 26.9 18.7] 936 96.1 83.3 89.1 1002.8 1004.9 6.5 23.5 95|/
I 15 2.4|FAmf 23.3 83.3 82 1011.3 1013.4
B 13.5|FE M 41| P 33.5 96.3 89.1 1021.9 1024 12.5 34 95
#£B8 [09/30 23:51 '09,/30 23:51 '09/09 13:06 '09/29 09:08 '09/30 24:00 ['09/12 10:06 ['09/12 10:06 |'09/10 17:07 |'09,/05 04:12 |'09/30
=IE 15.9 29.4 73.8 979.2 981.2
# H '09/28 01:42 '09/19 16:06 ['09/01 24:00 |'09,/30 23:57 |'09,/30 23:57
BEE 491
H# 20 0 21

R FEE |t JedbE [dbE BiLHE [ HER IED e Eale kil ki ik ok [i] i | i i) ki e
(%) 75| 272 6.6 1.4 0.6 0.5 1.3 2 4.1 28.7 11.6 3.6 0.9 0.7 0.8 1.8 0.7




108 Bk FEEBEE  (ES18m)
) (m/s) BRRIRA(m/s) = m (°C) i £ (%) = £ (hps) 5 = (mm) KSR

Bt AR EAQ] AR Am [BFH HRS H&IE 15 HRS H&IE E3h Hith B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 7.3|F 32.4|F 8 25.7 30.5 216/ 51.9 91.1 31.9 77.9 993.7 995.7 4.5 27 19[BE
2H 2.9|FaREg P 14.6|FaFg A 21.7 26.5 16.8 57 89.7 38 71.5 1010.3 1012.4 0 0 NS
3H 2| 12.3|F 19.6 23.9 157  79.1 95.5 57.5 73.7 1017.8 1019.9 0 0 NS
48 3.9[dtdt 14.9[dtdt & 21.2 22.8 187 774 93.6 69.7 74.8 1023.3 1025.4 0 0 NE
5H 2.9/t 11.9[dtdt & 21 22.5 19.9] 836 96.1 70.8 77.4 1023 1025.1 1 3.5 12|=
6H 1.3[FIFg 10.2|F8 23.5 29.1 20.3] 86.9 96.1 74.1 80.2 1014 1016.1 0.5 1.5 1.5|%
78 3.8|Fr 17.1|Ffa 27.7 33.1 218 645 90.5 38.6 75.4 1006.4 1008.4 0 1.5 NS
8H 2.3|dbdbE 7.7|dkdbEE 22.7 25 185 819 94.9 78.8 77.2 1012.1 1014.2 0 0 0|=
9H 2| 5.3| R P 21.3 27.2 17.1 78.2 95.5 46.6 71.5 1013.3 1015.4 0 0 0[fE
108 1.8|FARI P 49(dbdbE 21.7 26.1 17.8] 805 96.1 49.9 78.3 1013.5 1015.6 0.5 1.5 AlS
118 1.1\ 4.8|FFA S 22.4 26 209/ 88.8 96.1 70.5 81.4 1011.4 1013.5 35 6 e
128 2.1/dt 14.3[5dt 22.1 24.9 204 725 93.8 41.9 78.7 1013.9 1016 0 0 0|=
13H 5.1]3k 3k 15.6[dtdt 18.8 20.4 16.4] 603 81.1 49.7 73.1 1020.5 1022.6 0.5 1 1=
14H 2713tk 12.4[dkdt 17.5 22.6 148 775 95.5 45.2 74.3 1018.5 1020.6 1 3 R
15H 1.6|FArAPE 10.8[FAEE PE 18 20.7 16] 83.8 96.3 62.2 77.1 1016.4 1018.5 0 0 0|=
168 1.5(FFg A 5.7|dt 7 18.8 22.3 16.1 76.2 95.5 53.8 76.8 1011.4 1013.5 0 0 0|=
178 2.1|FrfE 9.6/t 19.1 23.3 16.1 74.2 96.3 44.9 76 1009 1011.1 0 0 NS
18H 3.8[dtdbE 10.4/4t 4t 19.6 22.8 17.7] 643 75.5 447 72.4 1013.6 1015.7 0 0 NS
198 3dbdb = 11.4]dbdb == 18.4 21.3 16.9]  75.1 90.2 57.2 73.1 1015.4 1017.5 0 0 NE
208 2.9/dtdbE 11.5[FF A 18.1 23.5 13.9 74 96.6 42 4 73.3 1015 1017.1 3.5 6 75|
218 3.1|FrfE 12.6|FFaA 16.2 23.6 11.8] 684 96.6 21.6 71.8 1017.8 1019.9 0 0 NS
228 3| 6.6/dt 3 15.8 23 11 72.1 96.1 31.3 71.8 1021 1023.2 0 0 0[fE
238 3.1[dedbE NEEES 18.2 20.3 143] 685 88.6 58.6 70.8 1019 1021.1 0 0 NE
248 1.8[FIFg A 6.6/db b= 18.7 22.9 15.7]  79.1 96.1 52.5 73.2 1012.7 1014.8 0 0 NS
258 1.8[FIFg A 6.5/db b3 18.9 23.2 154] 66.4 96.3 36.1 71.1 1015.8 1017.9 4 8.5 o|iE
268 1.9|Frd 6.9/dt it 17.5 21.6 149 78.8 96.3 51.6 73.3 1017.8 1020 0.5 3 1.5|=
278 1.9|Frd 15.4|Fd8 19.5 25.7 155  73.1 96.3 39.4 73.2 1006.2 1008.3 2 5.5 15[ =
288 2.7(Famm 13[EILE 16.8 22.2 12|  65.8 94.7 43.8 71 1007 1009.1 0 0 0[fE
298 5| 18.3|FaFg A 19.4 24.1 16.3] 447 52.7 36.6 63.1 1006.7 1008.8 0 0 NS
308 6.3| AR P 19.3| A 19.1 23.2 16.2] 424 53.6 33.3 56.8 1008.6 1010.7 0 0 NS
318 2| 10.6(78 15.4 20.5 11.9] 647 85 40.8 59.1 1011.2 1013.4 0 0 o[=
1 2.9|FE P 19.8 71.3 73.4 1013.4 1015.5
e 16.6|F P 32.4(F@M8 33.1 96.6 81.4 1025.6 1027.7 45 27 19
#£HB ['10/01 01:50 '10/01 02:24 '10/07 13:12 '10/21 07:07 '10/11 24:00 ['10/04 19:44 |'10/04 19:44 |'10/01 00:03 |'10/01 00:22 |'10/01
=IE 11 21.6 56.8 979 981
#£H '10/22 06:23 '10/21 14:50 ['10/30 24:00 ['10/01 01:01 |'10/01 01:01
BE 83.5
B 9 0 11

R F4EE |k JtdtEE (b BHILHE [ EAEY D B R | alealii] kil sk e o] ] i i) L7 B[] ki)
(%) 36/ 288 8.6 2.1 0.4 0.2 0.3 0.7 1.8 31.6 8.6 8 1.5 0.9 0.7 1.3 0.9




118 B#R FEEE  (ES18m)
1 (m/s) BRRIRA(m/s) = m (°C) ) E (%) & £ (hps) 55 = (mm) XM

Bt BIE &[] LR Bm | H¥EY Hxo H&IE EH Hxo H&IE =3 Rih B 102 RimEX | 1IGHERX |HEEW=| oRIRE | 15IRE
18 23| 5.8| FAFE Pl 13.6 18.8 10[ 748 95.8 39.9 63.7 1016.4 1018.5 0 0 NE
2H 2.6|FFg P 6|FA P 13.4 20 9 71 96.6 35 65.8 1022.2 1024.4 0 0 NS
3H 2.4|FEFE 6|FE A 14 19.2 11 81.6 96.6 49.9 70.5 1022.8 1025 0 0 NED
4H PRIEE& 6.7/dt 16.1 17.6 13.1 91.4 96.6 73.8 76.7 1020 1022.1 2 8 13| &M
5H 1.6|FAFa P 8ldtdt 17.9 21.2 16.3] 902 96.6 67.5 80.7 1019.1 1021.2 0.5 15 3|85
6H 25[dtdbE 10.1/dkdt 18.5 21.9 16.3]  91.2 96.3 73.3 83.8 1018 1020.1 1 15 25|2
78 4.2(dbdLE 11.5[dtdt 19 21.1 17.1 64.2 92.4 43.8 77.9 1020.3 1022.4 0.5 0.5 0.5|85
8H 4.3(dbdLE 14.6{dtdt 18.9 21.6 16.8] 59.3 74.4 45 72.3 1021.3 1023.4 0 0 0|2
9 1(FAra A 72| 17.1 19 154] 929 96.6 63.3 78.4 1017.5 1019.7 3 75 28.5|=
108 1.8|FAra 13.5|dL R 18.3 23.4 155 835 96.6 51.6 79.9 1014.8 1016.9 1 2 Al
118 2|FmEmA 8.7[Fara 16.2 21.3 124] 712 95.5 40.8 77.2 1017.8 1020 0 0 o|8E
128 1.5|FArA 51| Fa 16.6 20.2 13.8] 805 96.6 57.2 78.1 1012 1014.2 0 0 o|8E
138 3.4[dtitE= 12{dtdt 16 17.4 147] 835 96.6 70.5 79.7 1010.3 1012.4 0.5 1 NE
148 3.9[dtdtE 16.2[dtdt 15.4 18 134 555 90 38.3 72.4 1013.1 1015.3 0.5 0.5 1E
158 2.8|FAFg A 11.9|FIRIf 13.5 18.8 9.3 61.2 89.7 35 68.9 1019.7 1021.9 0 0 NETS
168 2.4|FFg P 10.3|F 7 12.4 18.2 78] 775 96.3 43.8 71.4 1019.4 1021.6 0 0 0|2
178 2.2|FAFg P 9.8[dtdt 15.9 21.1 11.1 66.3 96.9 32.7 69.8 1013.9 1016.1 0 0 o|8E
18H 2.2|dtdbE 9.2|dtdt 15.4 17.7 143] 703 88.8 57.2 69.8 1015.9 1018.1 0 0 0|2
198 1.2|FE P 5| 14.1 15.9 12.3] 894 96.9 73.6 75.6 1011.6 1013.8 0.5 0.5 15|
208 3.1|dbdtE 13.9(dbdL & 13 16.2 92| 645 955 38 72.2 1016.3 1018.5 0 0 NS
218 2.1[FrFm 13.3|FErm 13.2 19.7 8 79.4 95.8 475 74.3 1018.9 1021.1 0 0 0|rE
228 1.8|F P 12.7| 77 13.8 16.7 11.4] 835 96.9 53.6 77 1008.9 1011.1 0.5 0.5 05|/
238 2.7(FmmA 17.5(FAE P 12.4 16.4 8.8 59.1 95.8 38.6 71.6 1016 1018.2 0.5 0.5 0.5|0%
248 3[dtdb=E 9.4[dtit= 10.9 15.1 6.4 63.8 96.9 42.7 69.1 1022.7 1024.9 0.5 0.5 0.5|0%
258 2.2(FmmA 13.7|FE Pl 10.3 16.1 6.1 81.5 96.9 47.4 72.8 1020.5 1022.7 0 0 0|rE
268 1.9|F P 10.8| L 12.9 18.2 85 736 93.8 447 73 1020.8 1023 0 0 o|8E
278 29(FmmA 16.1|FAm 7 16.3 21.1 12|  67.4 96.6 33 71.3 1018.3 1020.4 0 0 o|8E
28H 2.1|FFg 9.7|FaFg A 15.6 19.6 11.2] 732 96.9 33.3 71.8 1014 1016.1 0 0 o|8E
298 25 12.7|dbdb R 13.6 15.7 104] 795 96.9 61.1 74 1015.7 1017.9 0.5 0.5 0.5|2

308 2|FIfaT 8.1|FEFEPE 12.3 17.2 94| 739 96.9 374 74 1018.7 1020.9 0 0 NS
I 15 2.4|FAmf 14.9 75.2 73.8 1017.2 1019.4
Re 9.1|FaEg P 17.5|FFE A 23.4 96.9 83.8 1024.9 1027.1 3 8 28.5
#£B8 ['11/2301:15 '11/23 01:15 '11/10 14:50 '11,/30 04:00 '11/06 24:00 ['11,/03 08:55 |'11,/03 08:55 |'11,/09 13:38 |'11/04 12:54 |'11/09
=IE 6.1 32.7 63.7 1004.8 1006.9
# H '11/25 02:59 '11/17 15:01 ['11/01 24:00 ['11/22 13:01 |'11/22 13:01
BE 58
H# 0 0 13

R FEE |t JedbE [dbE BiLHE [ HER IED e Eale kil ki ik ok [i] i | i B i | i e
(%) 4.1 27.6 9.3 3.4 1 0.2 0.3 0.4 2.1 39.6 3.8 3 1 15 0.7 1.2 0.8




128 AR FEEBEE  (ES18m)
) (m/s) BRRIRA(m/s) = m (°C) i E (%) = £ (hps) 5 = (mm) KM
H{t AR EAQ] AR Bm | HEH HRS H&IE 15 HRS H&IE E3h Rih B 102 RixX | 1KERK |HIEEEW=| R IRE | 15KIRE
18 3.4|FErE 13.9|FEm A 13.1 19.6 6.7 64.4 95 36.6 71.1 1018 1020.2 0 0 NS
2H 2.7|dbdbE 12.6]db bR 12.6 14.3 98] 685 95.5 56.6 70.2 1026.6 1028.8 0 0 NE
3H 1.2|FArAmE 4.3|FamEm 15 20.3 11 84.8 96.9 58.8 74.5 1022.7 1024.8 0 0 NE
4H 2.2|FE P 12.7|fF8 19.4 23.6 13.9] 8438 96.6 66.1 71.5 1012.7 1014.8 4.5 5 15|08
5H 24|FHILE 13.7(Fa 78 19.1 22.5 16.3]  62.7 96.3 38.3 73 1014.3 1016.4 0 0 NES
6H 2.7[dtdLE 14{dtdtE 13.8 16.4 124 875 96.6 65.2 77.3 1014.7 1016.9 3 9 18.5/I2hH
7H 3| PR A 17.9|Fm A 15.3 215 12.3 64 96.6 29.9 73.3 1008 1010.2 0 0 NS
8H 2| 12.8|FEE A 11.4 15.3 9.1 53.2 68.8 40.2 67.2 1012.8 1015 0 0 0[fE
9H 25| P 11.5|78 9.6 13.5 7.1 50.2 68 37.4 62 1019.1 1021.3 0 0 0|=
10H 2.4|FF I PG 9.9[dkdtE 1.7 9.9 51 60.8 85.2 44.9 61.6 1025.2 1027.4 0 0 0|=
118 4|4LIL3R 12.1]dedk 8.1 10.4 42| 698 97.2 48 64 1025.5 1027.7 1.5 5.5 21.5|=
128 2| 8.3/dt 9.6 10.7 8.1 95.1 96.9 85 73.3 1011.1 1013.3 2 8 31.5|/
13H 2.4|FF I P 12.9(FAEEFE 8.1 12.1 49 775 96.9 51.3 745 1017 1019.2 0 0 0|=
148 2.7(dt=® 15.2| FaEI A 9.6 14 6.5 51.7 68.8 37.4 67.6 1017.6 1019.8 0 0 NES
15H 1.9|FAr P 10.7|FAF8 7.2 11.6 2.9 80 90.5 68.8 71.2 1022.9 1025.1 0 0 0|=
16H 2.6|FFI P 13.3[FAFE e 8 13.4 2.1] 783 97.2 54.7 73.3 1020.4 1022.7 0.5 1 1=
178 2.2| PR P 16.1|FEE7a 11.5 15.3 92| 7713 96.9 53.6 74.4 1004.7 1006.9 0.5 2 55|/
188 5.5|FaEg P 17.7|F A 11 14.7 94| 505 61.1 375 67.2 1008.8 1011 0 0 NS
198 4.8(FaEIF 18.2|FA 11 13.4 7.7] 497 65 39.9 61.9 1013.5 1015.7 0 0 NS
208 39| A 15.1|FEE 12.8 17 8.4 553 89.7 40.5 59.8 1016.1 1018.3 0 0 NE
21H 2.5| AP 6|FaRI P 9.6 15.4 5.1 72.5 97.2 33.8 63.6 1021.8 1024 0 0 NES
228 1.7]dtdb R 9|mFE 11.9 13.7 10 85.8 96.9 62.4 70.2 1016.5 1018.7 15 35 JIETSS
23H 2.7|FarE 18|Famg P 12 15.4 99 884 96.9 61.9 75.6 1012.4 1014.6 0.5 0.5 1|/
248 31| A 14.5|FE A 11.1 14.7 38| 589 88.8 39.4 70.5 1012.9 1015.1 0 0 NE
25H 2.2|FErFE P 13.1|Fard 6.1 11.7 3.2 72 96.3 35.2 70.9 1019.1 1021.3 0 0 NES
268 2.1|FarFa 14.7|F 7 8.4 14.6 3.1 72.5 94.7 35 71.3 1012.1 1014.3 0 0 NE
278 3| 12.8|FA M 10 14.7 6.5 64 93.8 34.9 69.1 1004.8 1007 0 0 0[fE
288 3| 15.9|FEm 5.9 9.3 39| 609 77.2 475 66.5 1008.2 1010.4 0 0 o[/
29H 3.4|FErE 14.1|FaEIF 5.3 10 ofl 587 925 40.2 64.1 1013 1015.2 0 0 NES
308 1.9|Fra M 6.9|F 6 10.3 24  61.2 82.2 40.8 63.2 1019.5 1021.7 0 0 NE
31H 2.2| F A P 13.4|FAE P 5.5 10.2 1] 644 90.5 324 63.5 1025.2 1027.5 0 0 =
EH 2.7|FErE P 10.5 68.6 69.1 1016 1018.2
e 9.8 18.2|FA M 23.6 97.2 71.5 1029.7 1031.9 45 9 31.5
#£H ['12/18 04:34 '12/19 13:41 '12/04 12:38 '12/21 07:49 '12/04 24:00 ['12/11 09:17 |'12/11 09:17 |'12/04 22:13 ['12/06 05:12 ['12/12
=IE 0 29.9 59.8 1000.5 1002.6
¥ H '12/29 04:09 '12/07 14:22 ['12/20 24:00 |'12/17 14:56 ['12/17 14:56
BE 93.5
B 0 0 8
R F4EE |k JtdtEE (b BHILHE [ EAEY D B R | alealii] kil s alii] ] izl i B ] | o] ki)
(%) 22| 136 7.2 3.6 1.8 1.1 1.3 1.3 3 32.1 12 14.1 2.3 0.8 1 1.6 1




